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12158t ERIBANRERT Hf11138 Ik B HT i B HT 1.5 18 0.6 - X " —
1216]|—MiR;th BRI ER 5 A1560 kB HT ) 2.3 18 2.3 - X = —
12178/ A—2 ERIBANRER  /MR759 Ik B HT L) 0 0 0 - X " —
1218; B4 A ERIBAER B RIR314 kB HT ) 1 9 0.02 - X = —
1219|m =X ERIBANRER %7692 I BB T L) 25 25 0.41 - X i —
1220[dF K RRIMERERT 131547 ] ) 0.5 21 0.04 - X = —
12212 1& RRIMENRERT A $p482 Ik B HT I B HT 0.5 10 0.01 - X " —
1222[[F&F M ERIBERER E AFF1498 kB HT Ik B HT 25 20 0.13 - X = —
12238 M.t BRIBESERT 54867 I BB T 1 BB HT 4 20 9 - X = —
1224| & HGt BRI ER = /A868 1, BB HT 1 BB AT 3.7 52|  17.28 - X Fd —
1225| KB ERIBANRERT 18 F1446 Ik B HT ) 0 0 0.2 - X " —
1226 FK EREEVEERT EF1041 kB HT Ik B HT 2 12 1.8 - X = —
1227|&4ith BERIBENHER 1016 ) 1%, BB HT 0 0 35 - x = —
1228 KRt ERIBANEERT  K#8550 ) kB HT 0 0 0 - X = —
1229 [#0iR ERIBANRER /MR1278 ) 1%, BB HT 1.8 20 0.03 - x = —
1230 /]VB§ ERIBENER  _EHA830 3%, BB HT ) 1 10 0.01 - X = —
1231|NTER MMEEEN HHABEF 1169, 1851 BiEN Xl EJLE 6] 100 16 - x = —
1232|133 BRI 2R B A B EEIE2448~9 BiEH BEiF Ttk BX 2.2 80 3 - X = —
1233|#EIREH HR ] AR B F A JIER =838 BB Xl EJLE 2.4 30 5 - x = —
1234|853 BRI 2R B A BA = T663 BiEH HiEIFLih B X 26] 100 4 - X = —
1235| E R [EH HR ] AR B A ENES36-7 BB X EJLE 0.9 20 15 - x = —
1236 | 3E;3 BRI 2R B WFE/ 2828 BiEH HiIFHITHRER 2.1 20 2 - X = —
12378/ At ABHMATH  EHE/A65 AFH] AFEEME 25| 23] 06] - x i =
1238 |EiRith ABBKRFE  TEH=EIIRI08 Bf RFETEWER 1.5 11 0.1 - X = —
1239| BiR Eith AEIMAFAE  SHEIFIT2 KFHT EiRBK#EE 3.9 39 3 - X = —
1240 IR T ith ABEKFE SHEIH68 KFHT EiRAKEE 5.6 45 5.3 - X = —
12414 /Hith ABEVKFHT  EI)IIEDA4068 RFHT AFETEMEE 3 19 0.2 - X Fi -
1242 |BAER & E ABEKFE EEBAEAEI6 KFHT RFETEWEE 7.6 37 4.7 - X = —
1243|& Tt AEIMAKFA RIS T612 A FHT AFETENEE 4 24 0.7 - X = —
1244| 5 Fith AZEKFHE  ZIIST611 KFHT KFRTEWEE 35 30 0.1 - X = —
1245 | ¥4 iRt AEEKFA  EIIE4IR3176 KFH] KFBTEWER 35 31 1.4 - X = —
1246 Ei8:th AEEAFE  1FE151300 KFHT BEA 5.9 32 3.1 - x &= —
1247|A /Rt AEEBKRFHE  XHHEH/R1007 KFHT EX=NNTESCE =1 4.4 36 2 - X = —
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_ o . 2% [1TEE |wEkE| i (HurEsloo=RAED)
NO & PR mEE BEEX m | | Fod) | #AR | Rom | HED | EE
1248|hiEth ABEKFHE  thEG1F1344 KFH] RKFETEWE 3 23 0.5 - X = —
1249 A~ Eith AEEATHT  HEIFHAH A FHT AFETENEE 6 79 5.8 - @) = —
1250 &#dth AHBEKFH  StHEA—D KIS KFH] RO MKFEE 7.9 65 7.4 - X = —
1251( 1L/ Hith AEEAFHT  thAIL/EH2218 A FHT W/ B=HMKFIHE 338 47 1.3 - X i -
1252| BiHE = AZEKFHE  HHEEF2345 KFH] RFETEWE 45 30 05 — X = —
1253t/ ATFith ABEEKFA KFHDA142 A FHT AFEEMNEE 4.4 38 3.7 - @) = —
1254 TIMBE—th  |AEEKFHE  HETHWB271 KFH] RFETEWE 43 35 2 — X = —
1255 R K AZEEBAFET LR KS59 AFHET AFEEMNEE 15 31 0.1 - x Fid -
1256 |BA#;th AEEKFHT S REA%#H890 KFH] RFETEWE 4 44 23 — X = —
1257 F 3R At AZBEARTFRT  /NEFEFIIREA2911 KFHT KFBTEEE 5 24 14 - x = —
1258 |FlEA At AEBMATFH SERHAI427 A FHT AFETE MR 5 25 1.8 - X = —
1259 | H &ith AEBKAFHE  mRHARKXARI2 KFH] KFBTEHEE 10 36 48 - X = —
12603z At AERKFA  LEEIRE3971 KFH RA- SO MFBES | 341 40 0.9 - X i3 —
12615t AZEKFH  EEEKR4047 KFHT BHE-GhSEOMFBHEES [ 45 42 1.9 - X = —
1262 D At AERAKFE IBHDA1447 KFH] KFETEWEE 3.1 17 0.1 - X = —
1263 | D iRt ABEKFH ABBAKXFEAFTBIEDIR225 KFHT KFBTEHEE 25 65 0.8 - X = —
1264|554 Aith AWEERFHT AKEEKFEIARIIS 7 A1455 KFHT RFETEMEE 3.2 17 0.3 - X ® —
1265[5th&sith AZEEKFH  EEEKhL4048 KFHT BHE-hSE-OMFIBEHES [ 38 42 1.9 - X = —
1266 [4E FH HEERPTRET TR FiEE1416 By R ET FRRT LR BB TERR 2 80 1.9 - x = —
1267[/MU Tt FEERERFI R AT HE/NLT947 B FIRRTELRRMBHEREE] 15 80 5.8 - x = —
1268 [3EF M HEESP BT EFRTFFE1429 B MRRTELERHBHERE| 23 64 3.6 - x = —
1269 | #HH FRERERP R BT BREHE1193 Br] 2 HT I RBTE LR HERE| 15 85 18 - X = —
1270| 5t HERERP RET  EEEIH2093 Br] R HT RETELRNNBTERE[ 1.5 20 26 - X = —
1271 Rt FEEARPT R ET  TTE£ 1820 ey 52 ET I RBTE LR HERE| 15 60 1.5 - X = —
1272|ZF A TRERER AT BT RIEHT = F2049 SHFFARtHHEAR | EAFFRIHHER 3 20 2 - X = —
1273| R Eth REEREET £ $£5042-1, 50601 ENE LT BER 35 85 135 RIT.11.13 X = —
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